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1. Analyze quadrilateral STUV.
a. Identify quadrilateral STUV.  Explain your reasoning.
I can determine the length of each side by counting. 
S’T’ = 125 units; T’U’ = 50 units; U’V’ = 125 units; S’V’ = 50 units
The opposite sides are congruent, and each vertex is a right angle, so STUV is a rectangle.








b. Explain how you can transform quadrilateral STUV so that point S’ is located at the origin. Then graph quadrilateral S’T’U’V’ on the coordinate grid and list its coordinates.

To transform rectangle STUV so that point S is on the origin, I must perform two translations. I must translate rectangle STUV down 125 units and 150 units to the right. The coordinates of rectangle S’T’U’V’ are S’(0, 0), T’(125, 0), U’(125, 50), and V’(0, 50).




c. Calculate the perimeter of quadrilateral STUV.
[image: ]


d. Calculate the area of quadrilateral STUV.
[image: ]






2. Analyze triangle ABC.
a. Identify the triangle by its angles by finding the slopes of the sides.
Slope of AB:    Slope of BC: ​    Slope of AB: ​0 ​ 
Triangle ABC is not a right triangle because none of the slopes are not negative reciprocals[image: ].  Triangle ABC is an obtuse triangle.
[bookmark: _GoBack]








b. Calculate the area of triangle ABC.
[image: ]




c. Double the area of triangle ABC by manipulating point C to create triangle ABC’. Determine the location of point C’.
[image: ]






3. [image: ]Analyze parallelogram WXYZ.
a. [image: ]Determine the perimeter of parallelogram WXYZ. 


b. Determine the area of parallelogram WXYZ. Show your work or explain your reasoning.
[image: ]
















4. Analyze the figure shown.
a. [image: ][image: ]Determine the perimeter of the composite figure. Round to the nearest tenth.

b. Determine the area of the composite figure. Round to the nearest tenth.
[image: ]
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Area = bh
= 04
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The area of triangle ABC is 28 square units.
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Answers may vary.

‘The height of triangle ABC is 4 units. To double the area, | must double the height.
By translating point C up 4 units, the height will now be 8 units.

‘The location of point C' is (4, 12).

Students may also translate point C down 12 units. The location of point C' is (4, —4).
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Methods may vary.
I know the opposite sides of a parallelogram are congruent.

wx=E=ZF+B-2F XY =T eF+ G- F

Perimeter = 2 - Vi7 + 2 - Y10 ~ 14.57
The perimeter is approximately 14.57 units.
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Slope of WX = Slope of ZA = —4.

7

sqmﬁmmmey=}x+% Equation of ZA:y = —dx +17

Solve system of equations:

. =143
ax+17=1x+3
—426x=-155 y=-4(3.647) +17

x=~3647 y=~2412

The coordinates of point A are (3.647, 2.412).

Height: ZA ~ 2.67

Area ~ (2.67)4.12)

~1
The area of the parallelogram is approximately 11 square units.
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The perimeter of the composite figure is approximately 68.0 units.

I counted the lengths of the horizontal and vertical sides, and | used the Pythagorean Theorem
to calculate the lengths of the other sides.

AD = 16,EF =10,FG = 4,GH = 10,1y = 6

Length of DE: Length of AT: Length of 7A:
at+bi=ct a+br=ct @ +bi=ct
2+6i=ct 66" 6 +at=ct
a0=c 72= 52=ct
Vi =c 72 VBZ=c

perimeter = AD + DE + EF + FG + GH + HI + 1J + JA
=16+V30 +10+4 + 10+ V72 + 6 + V52
~68.0
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The area of the composite figure is 148 square units.

I divided the figure into two triangles, one rectangle, and one trapezoid.

The total area of the two triangles is 30 square units.

area of AJAB.

The total area of the rectangle is 40 square units.
Area of Rectangle FGHE:

area = bh

10(4)

40

The total area of the trapezoid is 66 square units.
Area of Trapezoid EJBD:

am:%(hase‘i»baﬁmm
=%(m+|zys

The total area of the figure is 136 square units.
total area = area of triangles + area of rectangle + area of trapezoid
=30+40+66
=136
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Perimeter = S'T" + T'U' + U'V' + V'S’
=125 + 50 + 125 + 50 = 350
The perimeter of rectangle STUV is 350 units.
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Area = S'T(T'U")
=125(50)
6250
The area of rectangle STUV is 6250 square units.





